AS’SEMBLY INSTRUCTIONS

MODEL #: 1827-116HFK EDISON KING HBFE “KING PANEL HEADBOARD & FOOTBOARD & SLATS"  (V#1 2600VTC1)
MODEL #: 1827-105RL EDISON SIDE QUEEN/ KING RAILS (Vi#12600VTC1)

NOTE: THIS ITEM NOT RECOMMENDED FOR COMMERCIAL USE |
KEEP THIS DOCUMENT FOR REFERENCE IN CASE PARTS ARE NEEDED
" DO NOT TIGHTEN SCREWS UNTIL COMPLETELY ASSEMBLED! !

No PARTS LIST QY
A ‘ HEADBOARD IPC
B N LEFT LEG 1PC
C & RIGHT LEG IPC
D & FOOTBOARD 1PC
E = SIDE RAIL - 2PCS
F / SLATS 4PCS
G & SUPPORT WITH LEVELER | 8PCS

No HARDWARE LIST QTY
] BOLT @5/16" x 2" 8PCS
2 'LOCK WASHER @5/16"x10Dx 1.lmm | 8PCS
3 'FLAT WASHER @5/16™x 18D x 2mim 8PCS
4 WRENCH. 2.1/4" x 4mm 1PC
5 THREAD BOLT | @5/16" x 90mm 8PCS.
6 CURVED WASHERS @5/16" DIA. SPCS
7 HEX NUT ?5/16" DIA. 8PCS-
8 OPEN WRENCH 12mm. 1PC
9 SCREW 1-1/4" x 4mm- 8PCS

No. | HARDWARE LIST FOR LAMP Q'TY
10 ) ALLEN BOLT @1/4"x1-3/4" 4PCS
11 LOCK WASHER @1/4" % 10D'x 1.1mun 8PCS

FLAT WASHER @1/4" x 18D x 2mm. 8PCS
HEX NUT @1/4" DIA S
HEX NUT (31/4° DIA

L' - . _
LIGHT BULB - | 2PCS

Q
©®
‘e
apam,)
17 @ | POWER OUTLETFORLAMP | - 1PC
D ——
D —

POWER OUTLET -
FOR SPEAKER IPC

LIGHT SPLITTER FOR LAMP | — 1PC




ASSEMBLY INSTRUCTIONS

MODEL # : 1827-110HFK EDISON KING HBFB “KING PANEL HEADBOARD & FOOTROARD & SLATS"  (V#12600VTC1)
MODEL # : 1827-105RL . EDISON SIDE QUEEN/ KING RAILS {VH#12600VTC1)

NOTE: THIS ITEM NOT RECOMMENDED FOR COMMERCIAL USE

KEEP THIS DOCUMENT FOR"REFERENC_E IN CAS'E': PARTS ARE NEEDED
DO NOT TIGHTEN SCREWS UNTIL. COMPLETELY ASSEMBLED! !

STEP 1

2 OF 61




ASSEMBLY INSTRUCTIONS

MODEL # ;- 1827-110HFK EDISON KING HBFE "KING PANEL HEADBOARD & FOOTBOARD & SLATS"  (ViH2600VTC1)
MODEL #: 1827-105RL EDISON SIDE QUEEN/ KING RAILS (V#12600VTC1)

NOTE: THIS ITE_M_'NOT RECOMMENDED FOR' COMMERCIAL USE
KEEP THIS DOCUMENT FOR REFERENCE IN CASE PARTS ARE NEEDED

DO NOT TIGHTEN SCREWS UNTIL COMPLETELY ASSEMBLED! !

STEP 2 % -~—@

S LZL

ERRY

oy




ASSEMBLY INSTRUCTIONS
MODEL # : 1827-110HFK EDISON KING HBFB "KING:PANEL HEADBOARD & FOOTBOARD & SLATS"  (V#12600VTC1).
MODEL # : 1827-105RL  EDISON.SIDE QUEEN/ KING RAILS {(V#12600VTC1)

KEEP THIS'DOCUMENT FOR REFERENCE IN CASE PARTS ARE NEEDED

DO NOT TIGHTEN SCREWS UNTIL COMPLETELY ASSEMBLED! !

STEP 4

LILLH IEZ T TN

4 OF 6




ASSEMBLY INSTRUCTIONS
MODEL % 1827-110HFK EDISON KING HBFE "KING PANEL HEADBOARD & FOOTBOARD & SLATS"  {V#12600VTC1)
MODEL # : 1827-105RL EDISON SIDE QUEEN/ KING RAILS {(V#12600VTCA)

NOTE: THIS ITEM NOT RECOMMENDED FOR COMMERCIAL USE
KEEP THIS DOCUMENT FOR REFERENCE IN CASE PARTS ARE NEEDED

DO NOT TIGHTEN SCREWS UNTIL COMPLETELY ASSEMBLED! !

STEP 4

[ L1 A Jezgy 77 [N




ASSEMBLY INSTRUCTIONS -
MODEL # : 1827-110HFK EDISON KING HBFB "KING PANEL HEADBOARD & FOOTBOARD & SLATS™  (V#12600VTC1)
MODEL # : 1827-105REL  EDISON SIDE QUEEN/ KING RAILS (VH#12600VTCT)
- NOTE: THIS ITEM NOT RECOMMENDED FOR COMMERCIAL USE
KEEP THIS DOCUMENT FOR REFERENCE IN CASE PARTS ARE NEEDED_
DO NOT TIGHTEN SCREWS UNTIL COMPLETELY ASSEMBLED! !

@ ®
[N}
-
{
b
-] o
POWER OUTLEY
FOR SPEAKER
T T T 777 T T 777 T 7777 T T 77 T 770 70 57 70 770 T 7 7T 77 7777 7770 77 77 77 70 77 7 70 77

16 OF 6



